

Research Article

Applications and Properties for Bivariate Bell-Based Frobenius-Type Eulerian Polynomials

Waseem Ahmad Khan^[b], ¹ Maryam Salem Alatawi^[b], ² and Ugur Duran^[b]

¹Department of Mathematics and Natural Sciences, Prince Mohammad Bin Fahd University, P.O. Box 1664, Al Khobar 31952, Saudi Arabia

²Department of Mathematics, Faculty of Science, University of Tabuk, Tabuk 71491, Saudi Arabia

³Department of Basic Sciences of Engineering, Faculty of Engineering and Natural Sciences, İskenderun Technical University, Hatay 31200, Turkey

Correspondence should be addressed to Waseem Ahmad Khan; wkhan1@pmu.edu.sa and Maryam Salem Alatawi; msoalatawi@ut.edu.sa

Received 2 September 2022; Accepted 15 October 2022; Published 25 August 2023

Academic Editor: Sarfraz Nawaz Malik

Copyright © 2023 Waseem Ahmad Khan et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

In this study, we introduce sine and cosine Bell-based Frobenius-type Eulerian polynomials, and by presenting several relations and applications, we analyze certain properties. Our first step is to obtain diverse relations and formulas that cover summation formulas, addition formulas, relations with earlier polynomials in the literature, and differentiation rules. Finally, after determining the first few zero values of the Eulerian polynomials, we draw graphical representations of these zero values.

1. Introduction

In recent times, the use of sine and cosine polynomials has led to the definition and construction of generating functions for new families of special polynomials, such as Bernoulli, Euler, and Genocchi; see [1-4]. Fundamental properties and diverse applications for these polynomials have been provided by these types of studies. For instance, not only various implicit and explicit summation formulas, differentiation-integration formulas, symmetric identities, and a lot of relationships with the well-known polynomials have been deeply investigated but also graphical representations of the zero values of these polynomials are drawn after determining them. Moreover, the aforementioned polynomials allow us to investigate worthwhile properties from a very basic procedure and assist to define novel types of special polynomials. Motivated by the above, in this paper, we define the cosine and sine Bell-based Frobenius-type Eulerian polynomials and examine several properties and applications. Our first step is to obtain diverse relations and formulas that cover summation formulas, addition formulas, relations with earlier polynomials in the literature, and differentiation rules. Finally, after determining the first few zero

values of the Eulerian polynomials, we draw graphical representations of these zero values.

Let $\xi \in \mathbb{R}$ denotes the set of all real numbers and $\lambda \in \mathbb{C}$ denotes the set of all complex numbers with $\lambda \neq 1$. The Frobenius-type Eulerian polynomial of order $\alpha \in \mathbb{C}$ is introduced as follows (see [5–7]):

$$\left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} e^{\xi z} = \sum_{j=0}^{\infty} \mathbb{A}_{j}^{(\alpha)}(\xi|\lambda) \frac{z^{j}}{j!}, \left|\frac{\log\lambda}{\lambda-1}\right| > |z|.$$
(1)

The Frobenius-type Eulerian polynomials have worked by many mathematicians; see [6–11].

Upon setting $\xi = 0$, $\mathbb{A}_{j}^{(\alpha)}(\lambda) = \mathbb{A}_{j}^{(\alpha)}(0|\lambda)$ are termed the Frobenius-type Eulerian numbers of order α . In view of (1), it can be readily observed that

$$\begin{aligned} \mathbb{A}_{j}^{(\alpha)}(\xi|\lambda) &= \sum_{\nu=0}^{j} {j \choose \nu} \mathbb{A}_{\nu}^{(\alpha)}(\lambda) \xi^{j-\nu}, \\ \mathbb{A}_{j}^{(\alpha)}(\xi|\lambda) &= (\lambda-1)^{j} \mathbb{H}_{j}^{(\alpha)} \left(\frac{\xi}{\lambda-1} \middle| \lambda\right), \end{aligned}$$
(2)

where $\mathbb{H}_{j}^{(\alpha)}(\xi|\lambda)$ are the Frobenius-Euler polynomials of order α (cf. [11, 12]).

The Stirling numbers of the first kind are introduced for $j \ge 0$ as follows (cf. [13–15]):

$$(\xi)_j = \sum_{p=0}^j S_1(j, p)\xi^p,$$
 (3)

where $(\xi)_0 := 1$ and $(\xi)_j := (\xi - j + 1)(\xi - j + 2) \cdots (\xi - 1)\xi$, $(j \ge 1)$. By (3), we acquire that (see [14, 16, 17])

$$\frac{1}{r!} (\log (1+z))^r = \sum_{j=r}^{\infty} S_1(j,r) \frac{z^j}{j!}, (r \ge 0).$$
 (4)

The Stirling numbers of the second kind are given for $j \ge 0$ as follows (see [5, 18]):

$$\xi^{j} = \sum_{q=0}^{j} S_{2}(j,q)(\xi)_{q}.$$
 (5)

In terms of (5), it is easily shown that

$$\sum_{j=r}^{\infty} S_2(j,r) \frac{z^j}{j!} = \frac{(e^z - 1)^r}{r!}.$$
 (6)

For any nonnegative integer q, the q-Stirling numbers S_q (j, k) of the second kind are introduced as follows (see [19]):

$$\frac{1}{k!}e^{qz}(e^{z}-1)^{k} = \sum_{j=k}^{\infty}S_{2}(j+q,k+q)\frac{z^{j}}{j!}.$$
(7)

Let q be any nonnegative integer. The Bell-based Stirling polynomials of the second kind are provided as follows (see [13]):

$$\frac{1}{k!}e^{q(e^{z}-1)}(e^{z}-1)^{k} = \sum_{j=k}^{\infty}{}_{Bel}S_{2}(j,k:q)\frac{z^{j}}{j!}.$$
(8)

The Apostol types of the Bernoulli $\mathbb{B}_{j}^{(\alpha)}(\xi|\lambda)$, the Euler $\mathbb{E}_{j}^{(\alpha)}(\xi|\lambda)$, and the Genocchi polynomials $\mathbb{G}_{j}^{(\alpha)}(\xi|\lambda)$ of order α are introduced as follows (cf. [11, 17, 20]):

$$\left(\frac{z}{\lambda e^{z}-1}\right)^{\alpha} e^{\xi z} = \sum_{j=0}^{\infty} \mathbb{B}_{j}^{(\alpha)}(\xi|\lambda) \frac{z^{j}}{j!} (|z + \log \lambda| < 2\pi),$$

$$\left(\frac{2}{\lambda e^{z}+1}\right)^{\alpha} e^{\xi z} = \sum_{j=0}^{\infty} \mathbb{E}_{j}^{(\alpha)}(\xi|\lambda) \frac{z^{j}}{j!} (|z + \log \lambda| < \pi), \qquad (9)$$

$$\left(\frac{2z}{\lambda e^{z}+1}\right)^{\alpha} e^{\xi z} = \sum_{j=0}^{\infty} \mathbb{G}_{j}^{(\alpha)}(\xi|\lambda) \frac{z^{j}}{j!}, (|z + \log \lambda| < \pi).$$

Also, their corresponding numbers are determined by

$$\mathbb{B}_{j}^{(\alpha)}(0|\lambda) \coloneqq \mathbb{B}_{j}^{(\alpha)}(\lambda), \mathbb{E}_{j}^{(\alpha)}(0|\lambda) \coloneqq \mathbb{E}_{j}^{(\alpha)}(\lambda), \mathbb{G}_{j}^{(\alpha)}(0|\lambda) \coloneqq \mathbb{G}_{j}^{(\alpha)}(\lambda),$$
(10)

respectively. In addition, their familiar polynomials and numbers are determined by just choosing $\lambda = \alpha = 1$ in their definitions and shown by $B_i(\xi)$ and $E_i(\xi)$.

The Bell polynomials $\text{Bel}_j(\xi)$ are introduced as follows (see [18, 21–25]):

$$e^{\xi(e^{z}-1)} = \sum_{j=0}^{\infty} \operatorname{Bel}_{j}(\xi) \frac{z^{j}}{j!}.$$
 (11)

Also, the corresponding Bell numbers are determined by $\text{Bel}_i(1) \coloneqq \text{Bel}_i, (j \ge 0)$. In terms of (6) and (11), it is seen that

$$\operatorname{Bel}_{j}(\xi) = \sum_{k=0}^{j} S_{2}(j,k)\xi^{k}(j \ge 0).$$
(12)

In recent years, Duran et al. [13] considered the Bellbased Bernoulli polynomials of order $\alpha_{Bel} \mathbb{B}_{i}^{(\alpha)}(\xi;\eta)$ given by

$$\sum_{j=0}^{\infty} {}_{Bel} \mathbb{B}_{j}^{(\alpha)}(\xi;\eta) \frac{z^{j}}{j!} = e^{\xi z + \eta(e^{z} - 1)} \left(\frac{z}{e^{z} - 1}\right)^{\alpha},$$
(13)

which also provides that

$${}_{Bel}\mathbb{B}_{j}^{(\alpha)}(\xi;\eta) = \sum_{r=0}^{j} \binom{j}{r} \mathbb{B}_{j-r}^{(\alpha)}(\xi) \mathrm{Bel}_{r}(\eta).$$
(14)

Also, in [13], the authors proved several properties and relations for the aforesaid polynomials. In addition, they gave many quirky formulas arising from the theory of umbral calculus.

Kim et al. [3] and Jamei et al. [1] considered the Bernoulli polynomials and the Euler polynomials based on the cosine and sine polynomials as follows:

$$\frac{1}{2}\sum_{j=0}^{\infty} \left(\mathbb{B}_{j}(\xi+i\eta) + \mathbb{B}_{j}(\xi-i\eta)\right) \frac{z^{j}}{j!} = \sum_{j=0}^{\infty} \mathbb{B}_{j}^{(c)}(\xi,\eta) \frac{z^{j}}{j!} = e^{\xi z} \cos \eta z \frac{z}{e^{z}-1},$$
(15)

$$\frac{1}{2i}\sum_{j=0}^{\infty} \left(\mathbb{B}_j(\xi+i\eta) - \mathbb{B}_j(\xi-i\eta)\right) \frac{z^j}{j!} = \sum_{j=0}^{\infty} \mathbb{B}_j^{(s)}(\xi,\eta) \frac{z^j}{j!} = e^{\xi z} \sin \eta z \frac{z}{e^z - 1},$$
(16)

$$\frac{1}{2}\sum_{j=0}^{\infty} \left(\mathbb{E}_{j}(\xi + i\eta) + \mathbb{E}_{j}(\xi - i\eta) \right) \frac{z^{j}}{j!} = \sum_{j=0}^{\infty} \mathbb{E}_{j}^{(c)}(\xi, \eta) \frac{z^{j}}{j!} = e^{\xi z} \cos \eta z \frac{2}{e^{z} + 1},$$
(17)

Journal of Function Spaces

$$\frac{1}{2i}\sum_{j=0}^{\infty} \left(\mathbb{E}_{j}(\xi+i\eta) - \mathbb{E}_{j}(\xi-i\eta)\right) \frac{z^{j}}{j!} = \sum_{j=0}^{\infty} \mathbb{E}_{j}^{(s)}(\xi,\eta) \frac{z^{j}}{j!} = e^{\xi z} \sin \eta z \frac{2}{e^{z}+1},$$
(18)

respectively. In addition, they investigated many relations for the polynomials given above.

The trigonometric polynomials, cosine, and sine polynomials are introduced as follows (see [2–4, 7]):

$$e^{\xi z} \cos \eta z = \sum_{r=0}^{\infty} C_r(\xi, \eta) \frac{z^r}{r!},$$

$$e^{\xi z} \sin \eta z = \sum_{r=0}^{\infty} S_r(\xi, \eta) \frac{z^r}{r!},$$
(19)

which satisfy the following expansion formulas:

$$C_{r}(\xi,\eta) = \sum_{j=0}^{\left\lfloor \frac{r}{2} \right\rfloor} (-1)^{j} {\binom{r}{2j}} \xi^{r-2j} \eta^{2j},$$

$$S_{r}(\xi,\eta) = \sum_{j=0}^{\left\lfloor \frac{r-1}{2} \right\rfloor} {\binom{r}{2j+1}} (-1)^{j} \xi^{r-2j-1} \eta^{2j+1},$$
(20)

where the value of $\lfloor y \rfloor$ is the largest integer that is equal or less than *y*.

2. Cosine and Sine Bell-Based Frobenius-Type Eulerian Polynomials

Here, we introduce the cosine and sine Bell-based Frobenius-type Eulerian numbers and polynomials, and then we derive several properties and identities for the above polynomials.

Motivated and inspired by the definitions (13) and (15)–(18), we first consider the Bell-based Frobenius-type Eulerian polynomials defined as follows:

$$\left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha}e^{z\xi}e^{\zeta(e^{z}-1)} = \sum_{j=0}^{\infty}{}_{Bel}\mathbb{A}_{j}^{(\alpha)}(\xi,\zeta|\lambda)\frac{z^{j}}{j!}.$$
 (21)

By (21) and the following well-known formula

$$e^{i\eta z} = (\cos \eta z + i \sin \eta z), \qquad (22)$$

thus, we have

$$\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha)}(\xi + i\eta, \zeta | \lambda) \frac{z^{j}}{j!} = \left(\frac{1-\lambda}{e^{z(\lambda-1)} - \lambda}\right)^{\alpha} e^{(\xi + i\eta)z} e^{\zeta(e^{z}-1)}$$
$$= \left(\frac{1-\lambda}{e^{z(\lambda-1)} - \lambda}\right)^{\alpha} e^{\zeta(e^{z}-1)e^{\xi z}(\cos \eta z + i \sin \eta z)},$$
(23)

$$\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha)}(\xi - i\eta, \zeta | \lambda) \frac{z^{j}}{j!} = \left(\frac{1 - \lambda}{e^{z(\lambda - 1)} - \lambda}\right)^{\alpha} e^{(\xi - i\eta)z} e^{\zeta(e^{z} - 1)}$$
$$= \left(\frac{1 - \lambda}{e^{z(\lambda - 1)} - \lambda}\right)^{\alpha} (\cos \eta z - i \sin \eta z) e^{\xi z} e^{\zeta(e^{z} - 1)}.$$
(24)

From (23) and (24), we get

$$\left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha}e^{\xi z}\cos\eta z e^{\zeta(e^{z}-1)} = \sum_{j=0}^{\infty} \left(\frac{Bel\mathbb{A}_{j}^{(\alpha)}(\xi+i\eta,\zeta\mid\lambda) + Bel\mathbb{A}_{j}^{(\alpha)}(\xi-i\eta,\zeta\mid\lambda)}{2}\right)\frac{z^{j}}{j!},$$
(25)

$$\left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha}e^{\xi z}\sin\eta z e^{\zeta(e^z-1)} = \sum_{j=0}^{\infty} \left(\frac{Bel^{A_j^{(\alpha)}}(\xi+i\eta,\zeta\mid\lambda) - Bel^{A_j^{(\alpha)}}(\xi-i\eta,\zeta\mid\lambda)}{2i}\right)\frac{z^j}{j!}.$$
(26)

Hence, here is our definition.

Definition 1. We consider the cosine and sine Bell-based Frobenius-type Eulerian polynomials of order α , for nonnegative integer *j*, as follows:

$$\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) \frac{z^{j}}{j!} = \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} e^{\xi z} \cos \eta z e^{\zeta(e^{z}-1)},$$
(27)

$$\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_j^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) \frac{z^j}{j!} = \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} e^{\xi z} \sin \eta z e^{\zeta(e^z-1)},$$
(28)

respectively.

Note that $_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,0,0|\lambda) \coloneqq \mathbb{A}_{j}^{(\alpha)}(\xi|\lambda)$ and $_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,0,0|\lambda) = 0 (j \ge 0)$. From (25)–(28), we have

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) = \frac{1}{2} \left({}_{Bel}\mathbb{A}_{j}^{(\alpha)}(\xi+i\eta,\zeta|\lambda) + {}_{Bel}\mathbb{A}_{j}^{(\alpha)}(\xi-i\eta,\zeta|\lambda) \right),$$

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \frac{1}{2i} \left({}_{Bel}\mathbb{A}_{j}^{(\alpha)}(\xi+i\eta,\zeta|\lambda) - {}_{Bel}\mathbb{A}_{j}^{(\alpha)}(\xi-i\eta,\zeta|\lambda) \right).$$

$$(29)$$

Remark 2. For $\zeta = \xi = 0$ in (27) and (28), we get novel type of the polynomials $\mathbb{A}_{i}^{(\alpha,c)}(\eta|\lambda)$ and $\mathbb{A}_{i}^{(\alpha,s)}(\eta|\lambda)$ as

$$\left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha}\cos\eta z = \sum_{j=0}^{\infty} \mathbb{A}_{j}^{(\alpha,c)}(\eta|\lambda)\frac{z^{j}}{j!},\qquad(30)$$

$$\left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha}\sin\eta z = \sum_{j=0}^{\infty} \mathbb{A}_{j}^{(\alpha,s)}(\eta|\lambda)\frac{z^{j}}{j!}.$$
(31)

It is readily observed that (for $j \ge 0$)

$$\mathbb{A}_{j}^{(\alpha,c)}(0|\lambda) = \mathbb{A}_{j}^{(\alpha,c)}(\lambda) \text{ and } \mathbb{A}_{j}^{(\alpha,s)}(0|\lambda) = 0.$$
(32)

Remark 3. Putting $\zeta = 0$ in (27) and (28), we attain cosine $\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta|\lambda)$ and sine $\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta|\lambda)$ Frobenius-type Eulerian polynomials:

$$\sum_{j=0}^{\infty} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta|\lambda) \frac{z^{j}}{j!} = \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} e^{\xi z} \cos \eta z,$$

$$\sum_{j=0}^{\infty} \mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta|\lambda) \frac{z^{j}}{j!} = \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} e^{\xi z} \sin \eta z,$$
(33)

respectively.

Remark 4. Letting $\xi = 0$ in (27) and (28), we have novel kind cosine and sine Bell-based Frobenius-type Eulerian polynomials as

$$\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,c)}(\eta,\zeta|\lambda) \frac{z^{j}}{j!} = \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} \cos \eta z e^{\zeta(e^{z}-1)},$$

$$\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,s)}(\eta,\zeta|\lambda) \frac{z^{j}}{j!} = \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} \sin \eta z e^{\zeta(e^{z}-1)},$$
(34)

respectively.

Remark 5. On setting $\xi = \eta = 0$ in (27) and (28), we attain the Bell-based Frobenius-type Eulerian polynomials ${}_{Bel} \mathbb{A}_i^{(\alpha)}(\zeta|\lambda)$ as

$$\left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha}e^{\zeta(e^{z}-1)} = \sum_{j=0}^{\infty}{}_{Bel}\mathbb{A}_{j}^{(\alpha)}(\zeta|\lambda)\frac{z^{j}}{j!}.$$
 (35)

Theorem 6. Let $j \ge 0$. We acquire that

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) = \sum_{\nu=0}^{\left[\frac{j}{2}\right]} {j \choose 2\nu} (-1)^{\nu} \eta^{2\nu}{}_{Bel}\mathbb{A}_{j-2\nu}^{(\alpha)}(\xi,\zeta|\lambda),$$
(36)

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \sum_{\nu=0}^{\left[\frac{j-1}{2}\right]} \binom{j}{2\nu+1} (-1)^{\nu} \eta^{2\nu+1} {}_{Bel}\mathbb{A}_{j-2\nu-1}^{(\alpha)}(\xi,\zeta|\lambda).$$
(37)

Proof. It is seen from (30) and (31) that

$$\begin{split} \sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) \frac{z^{j}}{j!} &= \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} e^{\xi z} \cos \eta z e^{\zeta(e^{z}-1)} \\ &= \sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha)}(\xi,\zeta|\lambda) \frac{z^{j}}{j!} \sum_{\nu=0}^{\infty} (-1)^{\nu} \eta^{2\nu} \frac{z^{\nu}}{(2\nu)!} \\ &= \sum_{j=0}^{\infty} \left(\sum_{\nu=0}^{\left[\frac{j}{2}\right]} (-1)^{\nu} \eta^{2\nu} \left(\frac{j}{2\nu}\right)_{Bel} \mathbb{A}_{j-2\nu}^{(\alpha)}(\xi,\zeta|\lambda) \right) \frac{z^{j}}{j!}, \end{split}$$

$$(38)$$

$$\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) \frac{z^{j}}{j!} = \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} e^{\xi z} \sin \eta z e^{\zeta(e^{z}-1)}$$
$$= \sum_{j=0}^{\infty} \left(\sum_{\nu=0}^{\left[\frac{j-1}{2}\right]} {j \choose 2\nu+1} (-1)^{\nu} \eta^{2\nu+1} {}_{Bel} \mathbb{A}_{j-2\nu-1}^{(\alpha)}(\xi,\zeta|\lambda) \right) \frac{z^{j}}{j!}.$$
(39)

We acquire the asserted results (36) and (37) in accordance with (38) and (39). $\hfill \Box$

Theorem 7. Let $j \ge 0$. We acquire that

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta+x|\lambda) = \sum_{k=0}^{j} {}_{Bel}\mathbb{A}_{k}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda)Bel_{j-k}(x),$$
(40)

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta+x|\lambda) = \sum_{k=0}^{j} {}_{Bel}\mathbb{A}_{k}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda)Bel_{j-k}(x).$$
(41)

Proof. By using (11), (23), and (24), we can readily derive (40) and (41) by utilizing series methods. Therefore, we exclude the proofs. \Box

Theorem 8. For $j \ge 0$, we have

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) = \sum_{u=0}^{j} \binom{j}{u}_{Bel}\mathbb{A}_{j-u}^{(\alpha)}(\zeta|\lambda)C_{u}(\xi,\eta), \quad (42)$$

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \sum_{u=0}^{j} \binom{j}{u}_{Bel}\mathbb{A}_{j-u}^{(\alpha)}(\zeta|\lambda)S_{u}(\xi,\eta).$$
(43)

Proof. Utilizing the Cauchy product rule

$$\left(\sum_{j=0}^{\infty} a_j \frac{z^j}{j!}\right) \left(\sum_{\nu=0}^{\infty} b_{\nu} \frac{z^{\nu}}{\nu!}\right) = \sum_{j=0}^{\infty} \left(\sum_{\nu=0}^{j} \binom{j}{\nu} a_{j-\nu} b_{\nu}\right) \frac{z^j}{j!}, \quad (44)$$

we investigate

$$\begin{split} \sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) \frac{z^{j}}{j!} &= e^{\xi z} \cos \eta z e^{\zeta(e^{z}-1)} \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} \\ &= \left(\sum_{\nu=0}^{\infty} C_{\nu}(\xi,\eta) \frac{z^{\nu}}{\nu!}\right) \left(\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha)}(\zeta|\lambda) \frac{z^{j}}{j!}\right) \\ &= \sum_{j=0}^{\infty} \left(\sum_{h=0}^{j} {j \choose h}_{Bel} \mathbb{A}_{j-h}^{(\alpha)}(\zeta|\lambda) C_{h}(\xi,\eta)\right) \frac{z^{j}}{j!}, \end{split}$$

$$(45)$$

which implies (42). The other proof (43) can be done similarly. $\hfill \Box$

Theorem 9. For $j \ge 0$, we attain

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) = \sum_{k=0}^{j} Bel_{j-k}(\zeta)\mathbb{A}_{k}^{(\alpha,c)}(\xi,\eta|\lambda), \qquad (46)$$

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \sum_{k=0}^{j} Bel_{j-k}(\zeta)\mathbb{A}_{k}^{(\alpha,s)}(\xi,\eta|\lambda), \qquad (47)$$

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) = \sum_{k=0}^{j} \xi^{j-k}{}_{Bel}\mathbb{A}_{k}^{(\alpha,c)}(\eta,\zeta|\lambda), \tag{48}$$

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \sum_{k=0}^{j} \xi^{j-k}{}_{Bel}\mathbb{A}_{k}^{(\alpha,s)}(\eta,\zeta|\lambda).$$
(49)

Proof. Using (27) and (28), the proofs of (46)–(49) can be shown similarly to the proofs of the above theorems. Therefore, we exclude the proof. \Box

Theorem 10. For $j \ge 0$, we have

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(s+\xi,\eta,\zeta|\lambda) = \sum_{u=0}^{j} \binom{j}{u}_{Bel}\mathbb{A}_{u}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda)s^{j-u},$$
(50)

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi+s,\eta,\zeta|\lambda) = \sum_{u=0}^{j} \binom{j}{u}_{Bel}\mathbb{A}_{u}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda)s^{j-u}.$$
(51)

Proof. By (27), we attain

$$\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,c)}(\xi+s,\eta,\zeta|\lambda) \frac{z^{j}}{j!} = \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} e^{\xi z} e^{\zeta(e^{z}-1)\cos \eta z e^{zz}}$$
$$= \left(\sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) \frac{z^{j}}{j!}\right) \left(\sum_{u=0}^{\infty} s^{u} \frac{z^{u}}{u!}\right)$$
$$= \sum_{j=0}^{\infty} \left(\sum_{u=0}^{j} {\binom{j}{u}}_{Bel} \mathbb{A}_{u}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) s^{j-u}\right) \frac{z^{j}}{j!},$$
(52)

which completes the proof (50). The result (51) can be done similarly. $\hfill \Box$

Theorem 11. For $j \ge 0$, we have

$$\frac{\partial}{\partial \xi_{Bel}} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) = j_{Bel} \mathbb{A}_{j-1}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda), \qquad (53)$$

$$\frac{\partial}{\partial \eta_{Bel}} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) = -j_{Bel} \mathbb{A}_{j-1}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda), \qquad (54)$$

$$\frac{\partial}{\partial \xi_{Bel}} \mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = j_{Bel} \mathbb{A}_{j-1}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda), \tag{55}$$

$$\frac{\partial}{\partial \eta_{Bel}} \mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = j_{Bel} \mathbb{A}_{j-1}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda).$$
(56)

Proof. By means of (27), we compute that

$$\begin{split} \sum_{j=1}^{\infty} \frac{\partial}{\partial \xi_{\text{Bel}}} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) \frac{z^{j}}{j!} &= \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} z e^{\xi z} \cos \eta z e^{\zeta(e^{z}-1)} \\ &= \sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) \frac{z^{j+1}}{j!} \\ &= \sum_{j=1}^{\infty} {}_{Bel} \mathbb{A}_{j-1}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) \frac{z^{j}}{(j-1)!} \\ &= \sum_{j=1}^{\infty} {}_{j} {}_{Bel} \mathbb{A}_{j-1}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) \frac{z^{j}}{j!}, \end{split}$$

$$(57)$$

which means (53). The formulas (54), (55), and (56) can be derived similarly. $\hfill \Box$

Theorem 12. *For* $j \ge 0$ *, we attain*

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) = \sum_{u=0}^{j}\sum_{k=0}^{u} \binom{j}{u}_{Bel}\mathbb{A}_{j-u}^{(\alpha,c)}(\eta,\zeta|\lambda)(\xi)_{k}S_{2}(u,k),$$
(58)

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \sum_{u=0}^{j}\sum_{k=0}^{u} \binom{j}{u}_{Bel}\mathbb{A}_{j-u}^{(\alpha,s)}(\eta,\zeta|\lambda)(\xi)_{k}S_{2}(u,k).$$
(59)

Proof. Using (6) and (27), we find

$$\begin{split} \sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) \frac{z^{j}}{j!} &= \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} (e^{z}-1+1)^{\xi} \cos \eta z e^{\zeta(e^{z}-1)} \\ &= \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} \cos \eta z e^{\zeta(e^{z}-1)} \sum_{k=0}^{\infty} (\xi)_{k} \frac{(e^{z}-1)^{k}}{k!} \\ &= \left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} \cos \eta z e^{\zeta(e^{z}-1)} \sum_{k=0}^{\infty} (\xi)_{k} \sum_{u=k}^{\infty} S_{2}(u,k) \frac{z^{u}}{u!} \\ &= \sum_{j=0}^{\infty} {}_{Bel} \mathbb{A}_{j}^{(\alpha,c)}(\eta;\zeta|\lambda) \frac{z^{j}}{j!} \sum_{u=0}^{\infty} \sum_{k=0}^{\omega} (\xi)_{k} S_{2}(u,k) \frac{z^{u}}{u!} \\ &= \sum_{j=0}^{\infty} \sum_{u=0}^{j} \sum_{k=0}^{u} {\binom{j}{u}}_{Bel} \mathbb{A}_{j-u}^{(\alpha,c)}(\eta,\zeta|\lambda)(\xi)_{k} S_{2}(u,k) \frac{z^{j}}{j!}. \end{split}$$

$$(60)$$

In view of (27) and (60), we attain the claimed result (58). Also, we can easily obtain (59) in a similar way. \Box

We give a relation with the Bell-Stirling polynomials of the second kind as follows.

TABLE 1: Real and complex zeros of ${}_{Bel}\mathbb{A}_{j}^{(4,c)}(\xi, 6, 5; 2)$.

Degree	Real zeros	Complex zeros
1	-9	_
2	-13.79583, -4.20417	_
3	-17.50929, -8.57862, -0.91208	_
4	-21.37817, 2.60420	-8.61301 + 2.46740 <i>i</i> , -8.61301 - 2.46740 <i>i</i>
5	-25.2312, -10.1799, 6.23115	-7.91002 - 4.42772 <i>i</i> , -7.91002 + 4.42772 <i>i</i>
6	-29.0774, 9.91421	-10.306 - 1.41814 <i>i</i> , -10.306 + 1.41814 <i>i</i> , -7.11246 - 6.21942 <i>i</i> , -7.11246 + 6.21942 <i>i</i>
7	-32.918, -12.0177, 13.6309	-9.56347 - 3.17179 i, -9.56347 + 3.17179 i, -6.2841 - 7.82954 i, -6.2841 + 7.82954 i
8	-36.7547, -12.8049, -11.0126, 17.3697	-8.97353 - 4.95183 i, -8.97353 + 4.95183 i, -5.42516 - 9.29329 i, -5.42516 + 9.29329 i,
9	-40.5884, -14.3645, 21.1239	-10.6868 - 2.38861 i, -10.6868 + 2.38861 i, -8.35989 - 6.57959 i, -8.35989 + 6.57959 i, -4.53883 - 10.6389 i, -4.53883 + 10.6389 i
10	-44.4198, -15.6243, -11.5504, 4.8894	-10.3149 - 4.14379 i, -10.3149 + 4.14379 i, -7.70471 - 8.09496 i, -7.70471 + 8.09496 i, -3.62785 - 11.8863 i, -3.62785 + 11.8863 i
11	-48.24939, -16.94854, 28.66337	-11.660956 - 1.92837 i, -11.660956 + 1.92837 i, -9.86402 - 5.74486 i, -9.86402 + 5.74486 i, -7.01359 - 9.51912 i, -7.01359 + 9.51912 i, -2.6941 - 13.0504 i, -2.6941 + 13.0504 i
12	-52.0776, -18.24958, -12.42031, 32.444	-11.46025 - 3.57703 i, -11.46025 + 3.57703 i, 5694 - 7.25491 i, -9.35694 + 7.25491 i, -6.292007 - 10.86579 i, -6.292007 + 10.86579 i, -1.73903 - 14.14248 i, -1.73903 + 14.14248 i
13	-55.90467, -19.5518, 36.22987	$\begin{array}{l} -12.64336 - 1.62677 \ i, -12.64336 + 1.62677 \ i, \\ -11.12894 - 5.13136 \ i, -11.12894 + 5.13136 \ i, \\ -8.80659 - 8.69073 \ i, -8.80659 + 8.69073 \ i, \\ -5.54426 - 12.14505 \ i, -5.54426 + 12.14505 \ i, \\ -0.76349 - 15.17179 \ i, -0.76349 + 15.17179 \ i \end{array}$
14	-59.7308, -20.84998, -13.40199, 40.0199	-12.52359 - 3.14914 i, -12.52359 + 3.14914 i, -10.73302 - 6.62043 i, -10.73302 + 6.62043 i, -8.2199 - 10.0621 i, -8.2199 - 10.0621 i, -4.77378 - 13.36466 i, -4.77378 + 13.36466 i, 0.23173 - 16.145982 i, 0.23173 + 16.145982 i
15	-63.55622, -22.14583, 43.81356	-13.65616 - 1.38254 i, -13.65616 + 1.38254 i, -12.27016 - 4.65428 i, -12.27016 + 4.65428 i, -10.29033 - 8.04947 i, -10.29033 + 8.04947 i, -7.60183 - 11.37668 i, -7.60183 + 11.37668 i
	-3.98323 - 14.53071 <i>i</i> , -3.98323 + 14.53071 <i>i</i> ,	1.24599 – 17.0/154 <i>1</i> , 1.24599 + 17.07154 <i>i</i>
16	-67.381, -23.4394, -14.4645, 47.61	$\begin{array}{l} -13.5438-2.79653i,-13.5438+2.79653i,\\ -11.9582-6.11878i,-11.9582+6.11878i,\\ -9.80817-9.42427i,-9.80817+9.42427i,\\ -6.95627-12.6403i,-6.95627+12.6403i,\\ -3.17465-15.6481i,-3.17465+15.6481i,\\ 2.27862-17.9541i,2.27862+17.9541i\end{array}$



FIGURE 1: Parametric cosine Frobenius-type Eulerian polynomials $_{Bel} \mathbb{A}_{j}^{(4,c)}(\xi, 6, 5; 2)$ for j = 11 (orange),13 (green), and16 (blue).



Figure 2: Structure of real zeros of $_{Bel}\mathbb{A}_{j}^{(4,c)}(\xi, 6, 5; 2), j \leq 1 \leq 16.$

Theorem 13. For $j \ge 0$, we attain

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) = \sum_{u=0}^{j}\sum_{k=0}^{u} \binom{j}{u} \mathbb{A}_{j-u}^{(\alpha,c)}(\eta|\lambda)_{Bel}S_{2}(u,k:\zeta)(\xi)_{k},$$
(61)

$${}_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \sum_{u=0}^{j}\sum_{k=0}^{u} \binom{j}{u} \mathbb{A}_{j-u}^{(\alpha,s)}(\eta|\lambda)_{Bel}S_{2}(u,k:\zeta)(\xi)_{k}.$$
(62)

Proof. Using (8), (27), and (28), the proofs of (61) and (62) can be shown similar to the proofs of Theorem 12. So, we omit the proofs. \Box

3. Some Values with Graphical Representations and Zeros of Sine and Cosine Bell-Based Frobenius-Type Eulerian Polynomials

Here, we indicate the first few sine and cosine Bell-based Frobenius-type Eulerian polynomials with beautiful graphical representations and examine some zero values of these polynomials $_{Bel}\mathbb{A}_{j}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda)$ and $_{Bel}\mathbb{A}_{j}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda)$.

It is not difficult to check that the first five parametric kinds of ${}_{Bel}A_j^{(\alpha,c)}(\xi,\eta,\zeta|\lambda)$ are

$$\begin{split} {}_{Bel} \mathbb{A}_{0}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) &= 1, \\ {}_{Bel} \mathbb{A}_{1}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) &= \xi + \zeta + \alpha, \\ {}_{Bel} \mathbb{A}_{2}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) &= \frac{\zeta}{2} + \frac{\zeta^{2}}{2} + \alpha\zeta + \zeta\xi + \frac{1}{2}\xi^{2} \\ &+ \alpha\xi + \frac{1}{2}\lambda\alpha + \frac{1}{2}\alpha^{2} - \frac{1}{2}\eta^{2}, \\ {}_{Bel} \mathbb{A}_{3}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) &= \frac{1}{6}\zeta + \frac{1}{2}\xi\alpha^{2} - \frac{1}{2}\eta^{2}\xi + \frac{1}{2}\zeta^{2}\xi + \frac{1}{2}\zeta\xi^{2} + \frac{1}{2}\zeta\xi \\ &+ \frac{1}{2}\xi^{2}\alpha + \frac{1}{2}\xi\alpha\lambda + \alpha\zeta\xi + \frac{1}{6}\xi^{3} + \frac{1}{2}\alpha\zeta^{2} \\ &+ \frac{1}{2}\alpha^{2}\zeta - \frac{1}{2}\zeta\eta^{2} + \frac{1}{2}\zeta\alpha + \frac{1}{2}\alpha\zeta\lambda + \frac{1}{6}\alpha^{3} \\ &+ \frac{1}{6}\alpha\lambda^{2} + \frac{1}{2}\alpha^{2}\lambda + \frac{1}{6}\lambda\alpha - \frac{1}{2}\eta^{2}\alpha + \frac{1}{6}\zeta^{3} + \frac{1}{2}\zeta^{2}, \\ \\ {}_{Bel} \mathbb{A}_{4}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) &= \frac{1}{24}\zeta + \frac{1}{24}\xi^{4} + \frac{1}{6}\zeta\xi + \frac{1}{2}\zeta^{2}\xi + \frac{1}{4}\zeta\xi^{2} + \frac{1}{4}\xi^{2}\alpha^{2} \\ &+ \frac{1}{6}\zeta^{3}\xi + \frac{1}{4}\zeta^{2}\xi^{2} + \frac{1}{6}\zeta\xi^{3} + \frac{1}{6}\alpha^{3}\xi - \frac{1}{4}\eta^{2}\xi^{2} \\ &+ \frac{1}{6}\xi^{3}\alpha + \frac{1}{6}\alpha\lambda^{2}\xi + \frac{1}{2}\alpha^{2}\zeta\lambda + \frac{1}{2}\alpha^{2}\zeta^{2} + \frac{1}{2}\alpha\zeta^{2}\zeta^{2} + \frac{1}{6}\xi\alpha\lambda^{2} - \frac{1}{2}\alpha\zeta\eta^{2}\xi + \frac{1}{6}\xi\alpha\lambda^{2} \\ &+ \frac{1}{2}\alpha\zeta^{2}\xi + \frac{1}{4}\alpha\zeta^{2}\lambda + \frac{1}{2}\alpha^{2}\lambda + \frac{1}{6}\alpha\zeta\lambda^{2} - \frac{1}{2}\alpha\zeta\eta^{2} \\ &+ \frac{1}{2}\alpha\lambda\eta^{2} + \frac{1}{6}\alpha\zeta^{3} + \frac{1}{4}\alpha^{2}\zeta^{2} - \frac{1}{4}\zeta^{2}\eta^{2} + \frac{1}{6}\alpha^{3}\zeta \\ &+ \frac{1}{24}\alpha\lambda^{3} + \frac{7}{24}\alpha^{2}\lambda^{2} + \frac{1}{4}\alpha^{3}\lambda - \frac{1}{4}\alpha^{2}\eta^{2} + \frac{1}{2}\alpha\zeta\lambda \\ &+ \frac{1}{4}\alpha^{2}\zeta - \frac{1}{4}\zeta\eta^{2} + \frac{1}{6}\alpha\lambda^{2} + \frac{1}{2}\alpha\zeta\lambda + \frac{1}{52}\alpha\zeta\lambda \\ &+ \frac{1}{2}\alpha\zeta^{4} + \frac{1}{2}4\zeta^{4} + \frac{1}{6}\alpha\lambda^{2} + \frac{1}{2}\alpha^{2}\lambda + \frac{1}{2}4\lambda\alpha \\ &+ \frac{1}{4}\zeta^{3} + \frac{7}{24}\zeta^{2} + \frac{1}{24}\eta^{4}, \end{split}$$

7



Figure 3: Stacking structure zeros of $_{Bel}\mathbb{A}_{j}^{(4,c)}(\xi, 6, 5; 2), j \leq 1 \leq 16.$



Figure 4: Graphic behavior of the zeros of ${}_{Bel}\mathbb{A}_{j}^{(4,s)}(\xi, 6, 5; 2)$ for j = 15, 16.

Be

$$\begin{split} {}_{d}A_{5}^{(\alpha,c)}(\xi,\eta,\zeta|\lambda) &= \frac{1}{120}\zeta + \frac{1}{120}\xi^{5} + \frac{1}{24}\zeta\xi + \frac{7}{24}\zeta^{2}\xi + \frac{1}{12}\zeta\xi^{2} \\ &+ \frac{1}{4}\zeta^{3}\xi + \frac{1}{4}\zeta^{2}\xi^{2} + \frac{1}{12}\zeta^{2}\xi^{3} + \frac{1}{12}\xi^{3}\alpha^{2} + \frac{1}{24}\eta^{4}\xi \\ &+ \frac{1}{24}\zeta^{4}\xi + \frac{1}{12}\zeta^{3}\xi^{2} + \frac{1}{12}\zeta^{2}\xi^{3} + \frac{1}{24}\zeta\xi^{4} + \frac{1}{12}\alpha^{3}\xi^{2} \\ &+ \frac{1}{24}\alpha^{4}\xi - \frac{1}{12}\eta^{2}\xi^{3} + \frac{1}{24}\xi^{4}\alpha + \frac{1}{4}\alpha^{2}\zeta^{2}\xi^{2} + \frac{1}{6}\alpha^{3}\zeta\xi \\ &- \frac{1}{4}\zeta^{2}\eta^{2}\xi + \frac{1}{4}\alpha\zeta^{2}\xi^{2} + \frac{1}{6}\alpha^{3}\xi + \frac{1}{4}\alpha^{2}\zeta^{2}\xi + \frac{1}{12}\xi^{3}\alpha\lambda \\ &+ \frac{7}{24}\alpha^{2}\lambda^{2}\xi + \frac{1}{4}\alpha^{3}\lambda\xi - \frac{1}{4}\alpha^{2}\eta^{2}\xi + \frac{1}{24}\alpha\lambda^{3}\xi + \frac{1}{6}\alpha\zeta\xi^{3} \\ &- \frac{1}{4}\zeta\eta^{2}\xi^{2} + \frac{1}{4}\alpha^{2}\lambda\xi^{2} + \frac{1}{12}\alpha\lambda^{2}\xi^{2} - \frac{1}{4}\alpha\eta^{2}\xi^{2} + \frac{1}{6}\alpha\lambda^{2}\xi \\ &+ \frac{1}{6}\alpha^{2}\lambda\xi - \frac{1}{4}\zeta\eta^{2}\xi + \frac{1}{4}\alpha\zeta\xi^{2} + \frac{1}{2}\alpha\zeta^{2}\xi + \frac{1}{4}\alpha^{2}\zeta\xi \\ &+ \frac{1}{12}\xi^{2}\alpha\lambda + \frac{1}{24}\xi\alpha\lambda + \frac{1}{6}\alpha\zeta\xi + \frac{1}{24}\alpha\zeta^{4} + \frac{1}{12}\alpha^{2}\zeta^{3} \\ &- \frac{1}{12}\zeta^{3}\eta^{2} + \frac{1}{12}\alpha^{3}\zeta^{2} + \frac{1}{12}\alpha^{4}\lambda - \frac{1}{12}\alpha^{3}\eta^{2} + \frac{1}{12}\alpha\zeta^{3}\lambda \\ &+ \frac{1}{8}\alpha^{2}\lambda^{3} + \frac{5}{24}\alpha^{3}\lambda^{2} + \frac{1}{12}\alpha^{4}\lambda - \frac{1}{12}\alpha^{3}\eta^{2} + \frac{1}{12}\alpha\zeta^{3}\lambda \\ &+ \frac{1}{4}\alpha^{2}\zeta^{2}\lambda + \frac{1}{12}\alpha\zeta^{2}\lambda^{2} - \frac{1}{4}\alpha\zeta^{2}\eta^{2} + \frac{1}{4}\alpha\zeta\lambda^{2}\lambda \\ &+ \frac{7}{24}\alpha^{2}\zeta\lambda^{2} - \frac{1}{4}\alpha^{2}\zeta\eta^{2} + \frac{1}{24}\alpha\zeta\lambda^{3} - \frac{1}{4}\alpha^{2}\lambda\eta^{2} \\ &- \frac{1}{12}\alpha\lambda^{2}\eta^{2} + \frac{1}{3}\alpha\zeta^{2}\lambda + \frac{5}{12}\alpha^{2}\beta\lambda + \frac{1}{4}\alpha\zeta\lambda^{2} - \frac{1}{4}\alpha\zeta\eta^{2} \\ &- \frac{1}{12}\alpha\lambda\eta^{2} + \frac{1}{4}\alpha\zeta^{2}\lambda + \frac{1}{6}\alpha\zeta^{2}\zeta^{2} - \frac{1}{4}\zeta^{2}\eta^{2} \\ &- \frac{1}{12}\alpha\lambda\eta^{2} + \frac{1}{12}\alpha^{2}\zeta\lambda + \frac{1}{6}\alpha\zeta\lambda^{2}\xi + \frac{1}{4}\alpha\zeta\lambda^{2} \\ &- \frac{1}{12}\alpha\zeta\eta^{2}\xi^{2} + \frac{1}{12}\alpha^{2}\zeta\lambda + \frac{1}{6}\alpha\zeta\lambda^{2}\xi + \frac{1}{4}\alpha\zeta\lambda\xi^{2} \\ &- \frac{1}{12}\alpha\zeta\eta^{2}\xi + \frac{1}{12}\alpha^{2}\zeta\lambda + \frac{1}{6}\alpha\zeta\lambda^{2}\xi + \frac{1}{4}\alpha\zeta\lambda\xi^{2} \\ &- \frac{1}{2}\alpha\zeta\eta^{2}\xi + \frac{1}{12}\alpha^{2}\zeta\lambda + \frac{1}{6}\alpha\zeta\lambda^{2}\xi + \frac{1}{4}\alpha\zeta\lambda\xi^{2} \\ &- \frac{1}{2}\alpha\zeta\eta^{2}\xi + \frac{1}{12}\alpha^{2}\zeta\lambda + \frac{1}{6}\alpha\zeta\lambda\xi^{2} + \frac{1}{4}\alpha\zeta\lambda\xi^{2} \\ &- \frac{1}{2}\alpha\zeta\eta^{2}\xi + \frac{1}{12}\alpha^{2}\zeta\lambda + \frac{1}{12}\alpha^{2}\zeta\lambda + \frac{1}{6}\alpha\zeta\lambda\xi^{2} \\ &- \frac{1}{2}\alpha\zeta\eta^{2}\xi + \frac{1}{12}\alpha^{2}\zeta\lambda + \frac{1}{12}\alpha^{2}\zeta\lambda + \frac{1}{6}\alpha\zeta\lambda\xi^{2} \\ &- \frac{1}{2}\alpha\zeta\eta^{2}\xi + \frac{1}{6}\alpha\zeta\lambda\xi^{2} + \frac{1}{6}\alpha\zeta\lambda\xi^{2} + \frac{1}{6}\alpha\zeta\lambda\xi^{2} \\ &- \frac{1}{6$$

while the first five parametric kinds of ${}_{Bel}A^{(\alpha,s)}_j(\xi,\eta,\zeta|\lambda)$ are

$$\begin{split} & _{Bel} \mathbb{A}_{0}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = 0, \\ & _{Bel} \mathbb{A}_{1}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \eta, \\ & _{Bel} \mathbb{A}_{2}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = (\xi+\zeta+\alpha)\eta, \\ & _{Bel} \mathbb{A}_{3}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \frac{1}{6}\eta(3\alpha^{2}+6\zeta\alpha+3\alpha\lambda+6\xi\alpha+3\zeta^{2}+6\zeta\xi-\eta^{2}+3\xi^{2}+3\zeta), \\ & _{Bel} \mathbb{A}_{4}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \frac{1}{6}\eta(\alpha^{3}+3\alpha^{2}\zeta+3\alpha^{2}\lambda+3\xi\alpha^{2}+3\alpha\zeta^{2} \\ & + 3\alpha\zeta\lambda+6\alpha\zeta\xi+\alpha\lambda^{2}+3\xi\alpha\lambda-\eta^{2}\alpha+3\xi^{2}\alpha \\ & + \zeta^{3}+3\zeta^{2}\xi-\zeta\eta^{2}+3\zeta\xi^{2}-\eta^{2}\xi+\xi^{3}+3\zeta\alpha \\ & + \alpha\lambda+3\zeta^{2}+3\zeta\xi+\zeta), \end{split}$$

$${}_{Bel} \mathbb{A}_{5}^{(\alpha,s)}(\xi,\eta,\zeta|\lambda) = \frac{1}{120} \eta \left(5\zeta + 20\alpha\lambda^{2}\xi + 60\alpha^{2}\lambda\xi - 20\zeta\eta^{2}\xi + 60\alpha\zeta\xi^{2} + 60\alpha\zeta\xi^{2} + 60\alpha^{2}\zeta\xi + 30\xi^{2}\alpha\lambda - 20\alpha\eta^{2}\xi + 5\xi^{4} + 5\alpha^{4} + 20\zeta\xi^{4} + 60\zeta^{2}\xi + 30\zeta\xi^{2} + 30\zeta\xi^{2} + 30\zeta\xi^{2} + 20\zeta^{3}\xi + 30\zeta^{2}\xi^{2} + 20\zeta\xi^{3} + 20\alpha\zeta^{3} + 20\alpha\zeta^{3} + 20\alpha\zeta^{3} - 10\eta^{2}\xi^{2} + 20\xi^{3}\alpha + 20\alpha\zeta^{3} + 30\alpha^{2}\zeta^{2} - 10\zeta^{2}\eta^{2} + 20\alpha^{3}\zeta + 5\alpha\lambda^{3} + 35\alpha^{2}\lambda^{2} + 30\alpha^{3}\lambda - 10\alpha^{2}\eta^{2} + 60\alpha\zeta^{2} + 30\alpha\zeta^{2} + 20\zeta\alpha^{2}\lambda + 20\zeta\alpha^{2}\lambda + 20\zeta\alpha^{2}\lambda + 20\zeta\alpha^{2}\lambda + 20\zeta\alpha^{2}\lambda + 60\alpha\zeta\xi + 30\alpha\zeta^{2}\lambda + 60\alpha\zeta\xi + 30\alpha\zeta^{2}\lambda + 60\alpha\zeta\lambda^{2} - 20\alpha\zeta\eta^{2} - 10\alpha\lambda\eta^{2} + 50\alpha\zeta\lambda + 5\zeta^{4} + 30\zeta^{3} + 35\zeta^{2} + \eta^{4} + 60\alpha\zeta\lambda\xi).$$

For $1 \le j \le 16$, the complex and real zero values of $_{Bel} \mathbb{A}_{i}^{(4,c)}(\xi, 6, 5; 2)$ are showed in Table 1.

Figure 1 shows the plots for some parametric cosine Frobenius-type Eulerian polynomials.

Figure 2 shows the structure of real zeros of the parametric cosine Frobenius-type Eulerian polynomials $_{Bel}A_{j}^{(4,c)}(\xi, 6, 5; 2)$, with $j \le 1 \le 16$.

Figure 3 shows the stacking structure zeros of the parametric cosine Frobenius-type Eulerian polynomials ${}_{Bel}\mathbb{A}_{j}^{(4,c)}$ $(\xi, 6, 5; 2)$, with $j \le 1 \le 16$.

Finally, Figure 4 shows the graphic behavior of the zeros of the parametric sine Frobenius-type Eulerian polynomials $_{Bel}A_i^{(4,s)}(\xi, 6, 5; 2)$ for j = 15, 16.

4. Conclusion

Our paper introduced sine and cosine Bell-based Frobeniustype Eulerian polynomials and analyzed their properties by providing several relations and applications. Also, various formulas and properties including differentiation rules, addition formulas, relations, and summation formulas have been investigated. Moreover, after determining the first few zero values of the Eulerian polynomials, we have drawn graphical representations of these zero values.

It is possible that this paper's idea can be applied to polynomials that are similar and these polynomials have potential applications in other fields of science in addition to the applications at the end of the article. We will continue to explore this opinion in various directions in our next scientific works to advance the purpose of this article.

Data Availability

No data were used to support this study.

Conflicts of Interest

The authors declare that they have no conflicts of interest.

References

- M. M. Jamei, M. R. Beyki, and W. Koepf, "A new type of Euler polynomials and numbers," *Mediterranean Journal of Mathematics*, vol. 15, no. 3, pp. 1–17, 2018.
- [2] T. Kim and C. S. Ryoo, "Some identities for Euler and Bernoulli polynomials and their zeros," *Axioms*, vol. 7, no. 3, p. 56, 2018.
- [3] D. S. Kim, T. Kim, and H. Lee, "A note on degenerate Euler and Bernoulli polynomials of complex variable," *Symmetry*, vol. 11, no. 9, p. 1168, 2019.
- [4] G. Muhiuddin, W. A. Khan, and D. Al-Kadi, "Construction on the degenerate poly-Frobenius-Euler polynomials of complex variable," *Journal of Function Spaces*, vol. 2021, Article ID 3115424, 9 pages, 2021.
- [5] D. S. Kim, T. Kim, W. J. Kim, and D. V. Dolgy, "A note on Eulerian polynomials," *Abstract and Applied Analysis*, vol. 2012, Article ID 269640, 10 pages, 2012.
- [6] W. A. Khan and D. Srivastava, "Certain properties of Apostoltype Hermite-based Frobenius-Genocchi polynomials," *Kragujevac Journal of Mathematics*, vol. 45, no. 6, pp. 859–872, 2021.
- [7] H. M. Srivastava, M. A. Boutiche, and M. Rahmani, "A class of Frobenius-type Eulerian polynomials," *The Rocky Mountain Journal of Mathematics*, vol. 48, pp. 1003–1013, 2018.
- [8] L. Carlitz, "Eulerian numbers and polynomials," *Mathematics Magazine*, vol. 32, no. 5, pp. 247–260, 1959.
- [9] L. Carlitz, "Eulerian numbers and polynomials of higher order," *Duke Mathematical Journal*, vol. 27, no. 3, pp. 401– 423, 1960.
- [10] W. A. Khan, K. S. Nisar, A. Mehmet, and U. Duran, "A novel kind of Hermite-based Frobenius type Eulerian polynomials," *Proceedings of the Jangieon Mathematical Society*, vol. 22, no. 4, pp. 551–563, 2019.
- [11] W. A. Khan and D. Srivastava, "On the generalized Apostoltype Frobenius-Genocchi polynomials," *Filomat Journal*, vol. 33, no. 7, pp. 1967–1977, 2019.
- [12] A. U. Ashraf, T. N. Tran, and M. Yoshinaga, "Eulerian polynomials for subarrangements of Weyl arrangements," *Advances in Applied Mathematic*, vol. 120, article 102064, 2020.
- [13] U. Duran, A. Mehmet, and S. Araci, "Bell-based Bernoulli polynomials with applications," *Axioms*, vol. 10, no. 1, p. 29, 2021.
- [14] W. A. Khan, G. Muhiuddin, A. Muhyi, and D. Al-Kadi, "Analytical properties of type 2 degenerate poly-Bernoulli polynomials associated with their applications," *Advances in Difference Equations*, vol. 2021, no. 1, 2021.
- [15] C. S. Ryoo and W. A. Khan, "On two bivariate kinds of poly-Bernoulli and poly-Genocchi polynomials," *Mathematics*, vol. 8, no. 3, p. 417, 2020.
- [16] M. A. Pathan and W. A. Khan, "A new class of generalized Apostol-type Frobenius-Euler-Hermite polynomials," *Honam Mathematical Journal*, vol. 42, no. 3, pp. 477–499, 2020.
- [17] I. Mezö, "A new formula for the Bernoulli polynomials," *Results in Mathematics*, vol. 58, no. 3-4, pp. 329–335, 2010.
- [18] D. S. Kim and T. Kim, "Some identities of degenerate Bell polynomials," *Mathematics*, vol. 8, no. 1, p. 40, 2020.

- [19] A. Z. Border, "The *r*-Stirling numbers," *Discrete Mathematics*, vol. 49, no. 3, pp. 241–259, 1984.
- [20] M. A. Pathan and W. A. Khan, "On λ-Changhee–Hermite polynomials," *Analysis*, vol. 42, no. 2, pp. 57–69, 2022.
- [21] E. T. Bell, "Exponential polynomials," *The Annals of Mathematics*, vol. 35, no. 2, pp. 258–277, 1934.
- [22] W. A. Khan, M. Kamarujjama, and Daud, "Construction of partially degenerate Bell-Bernoulli polynomials of the first kind and their certain properties," *Analysis*, vol. 42, no. 3, pp. 171–184, 2022.
- [23] N. Alam, W. A. Khan, and C. S. Ryoo, "A note on Bell-based Apostol-type Frobenius-Euler polynomials of complex variable with its certain applications," *Mathematics*, vol. 10, no. 12, p. 2109, 2022.
- [24] N. Alam, W. A. Khan, S. Obeidat et al., "A note on Bell-based Bernoulli and Euler polynomials of complex variable," *Computer Modeling in Engineering and Sciences*, vol. 135, no. 1, pp. 187–209, 2023.
- [25] R. B. Corcino, C. B. Corcino, J. M. Ontolan, C. M. Perez, and E. R. Cantallopez, "Hankel transform of q-noncentral Bell numbers," *International Journal of Mathematics and Mathematical Sciences*, vol. 2015, Article ID 417327, 10 pages, 2015.